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Rearrangement of Sentences 

Tips & Tricks



1. Check the links: There is always

something connecting either in the context

or in the flow of the sentence. Usually, it is

a particular theme and you can identify.



2. Nouns and pronouns reference: Nouns

or subjects mentioned in a statement can

be replaced by a pronoun in the next

statement. Be always on the lookout for

such pairs.



3. Subject matching: two statements 

based on the subject form a pair



LOGICAL 
PAIRS

NOUN 

PRONOUN

STATEMENT 

EXAMPLE

EXAMPLE                          

EXAMPLE

ADVERB                VERB                

ADVERB

PRESENT                    PAST



Key words (indicators)

However                         Thus

In fact Hence

Moreover                        As well as

Whereas                          Not only – but also

Instead                           Notwithstanding

As soon as In spite of 

despite



Rearrangement of 

Sentences Exercise



1. The rates of death from heart

disease and cancer (A)/ servings of

whole grains appears (B)/ a diet that

includes three daily (C)/ to help

people live longer, including by

reducing (D)

(1) BACD

(2) BDCA

(3) CBDA

(4) DBCA

(5) No change required (SBI CLERK

(3) 

CBDA



2. Devastating than last year’s (A)/ the

Himalayan region may (B)/ be under

the risk of earthquakes more (C)/

Nepal that killed over 8,000 people.

(D)

(1) BACD

(2) BDCA

(3) CBAD

(4) BCAD

(5) No change required

(SBI CLERK Pre)

(4) BCAD 



3. The metro cities which do (A)/

there are some schools in (B)/ not

try to subject the (C)/ child to too

much pressure (D)

(1) BDCA

(2) BACD

(3) DACB

(4) DBCA

(5) No change required

(IBPS CLERK Pre)
(2) BACD 



4. There are many challenges

before (A)/ there is the factor of

migrant labour. (B)/ the arrest

shows that (C)/ the police

especially when (D)

(1) BACD

(2) BDCA

(3) CADB

(4) DBCA

(5) No change required

(SBI CLERK Pre)

(3) CADB



5. To relieve teachers and

particularly children (A)/ from

facing undue stress and strain (B)/

the continuous and comprehensive

(C)/ evaluation system must be

introduced (D)

(1) BACD

(2) CDAB

(3) DACB

(4) DBCA

(5) No change required (IBPS

(2) CDAB 



A. However, many people may not be aware of 

numerous other areas where it has been applied

B. Today even those who has little knowledge about 

the production of virtual reality are now most likely 

aware of its use in video games.

C. Similarly, medical students have substituted a  

cadaver of a fiberglass mould of a body and 

headset when training to perform a surgery.

D. Virtual reality was an unfamiliar concept to many 

people till early 90’s

E. Introducing virtual reality to the real world thus has 

already proven to beneficial for every industry  it 

encounters.

DBAFCE



1.Which of the following should be the 

FIFTH sentence after rearrangement ?

(1) A

(2) B

(3) C

(4) D

(5) E
DBAFCE



2. Which of the following should be the 

FOURTH sentence after 

rearrangement ?

(1) F

(2) D

(3) C

(4) B

(5) A

DBAFCE



3. Which of the following should be the 

SECOND sentence after 

rearrangement ?

(1) E

(2) D

(3) C 

(4) B

(5) A

DBAFCE



4.Which of the following should 

be the FIRST sentence after 

rearrangement ?

(1) A

(2) B

(3) C

(4) D

(5) E

DBAFCE



5.Which of the following should be the 

THIRD sentence after rearrangement ?

(1) A

(2) B

(3) C

(4) D

(5) E DBAFCE




